haptet— 1, | |
¢ aFﬁY 7 1 Fhyee Dimensional Gﬁoﬁfhéﬁ ¢ Maks r

Fmd the shodeot ditmace betoeen too fmes
UE??* X _ j\ NN AN
b2 LRER A -THR)

N= 4-0-R+ 4 (30 +]4R)

) o DpO A (=04 R) cond F= ) R+ (30=5) 4R
€3 o A4+ RN (R-2044R) and F= — R4 1 (30-304R)
LY D"L'r—i_ﬁi_zéf_‘ ol X3 - Y5 _ =z-7

1 l ] - ]
3 VTN A\
EOFL+20-4R A2 (204301 R)amd 7= 3P p5f—5 Rt 20 £3M¢R )

n

)= J+a33R £ (A-3144R ) oond F'= 1t 574 R+ 1 (9fv3)4R )

— 0\ A
D ¥- P42 =4 RAA (4304 R ) and =5 30 43/—5K+ 4 (4043 RJ
\0) Y= 0-O8 +(+-0) 7+ (3-3R gond Y=(S+DLH(25-1)] ~(25-1)K

® Find the vectow e aretes i .

- euations of

-Dtm g ot (1,0, ) Zﬁ “f\o-{maé?f"o gsp&m:fﬁ?f}%{— (5565 thrsough
3) Frad T vectoy .

R (S gt o ¢ o s s
@ Fimd the vectos Cmd Qretesiam 67Wm of Pliae which passes Moo it
[5,3;’")) A'nC{ Pe‘s'Pe“ﬂdlCuéri 1o the Piae with d,;{ed_’-ov‘l 1y _ (7_}7%0

(5) Find the equation of ple +hat ' Y OS(Q?’B’ )
0 ane .
oend (*Lf,—a%) ' PASSES Thraough tiree poats (41-1) (1y-3)
Fid the co-o¢dimates of +he Poiats Lok ;
R(&L\/\) cond) 5(5;’,6‘) C-f052 5 ;‘:»é“}( ﬁf’pmﬁg {Se iﬁ‘zrfbu‘gh the ports
Frad the. apugrt 77 1% Pt (€) 2 plive
o Tmz;ﬂ;hﬁ) and YH+2-3=0 awd +he /Doij/m 7he plames
v, g O 41 Pl thraugn e five.of D
locae Y—J‘s{ T2 O B =5 hich s peyy

MO0 of the fime Yo é@‘jmw (1775 -10) Fvom 1he poet of

K X308 £y o0
o o 2 Y7 k) avd the Plrae
. Cmﬂ beﬁvff‘ﬂ the

fi‘ne Y
pla-ve. 03+ay-11= < 3 - £ - =3 and the
@ Fi~d the verte Gﬂaﬁ‘cm of- the

T (HK)=T F ad ) Plive. s thvough the :
)8 LATSTH3R) g cend ﬁweJPo'mff(a,;,:s )%Sepbo"’o’oﬁ’eﬁﬂ?w

Scanned by CamScanner




So(jqu lon of Thxee [//me-ﬂsiomf [vfmehy

’I(a) e gives fives a~e
Y= M)tk alf-f+k) —0

Y= PR 044k ) —(D
O™PMC UH”\
ENOESYY = er% T
,Ho?JJrK b= /~J+K

003-41 -J-R % azmﬁzh

CRERVRIES F-o? k= f-3]-ax
hixly = /f —";\ J'E )
|y | AN R()
BN i
- VORI - /75 - /T =

Sp- /( 'xff)_*(_aa —0; ) }:/@/+OJ+3K)r{/‘—3j‘—apR)
[5x | a 3V /

’iﬂ?'_(_/"%s _ 3
3T | %‘ﬁ"i@z”

I(L)_ ﬁeglv@s\ li~ee, a~ge BLl
- f+J+/\(;//—f+k _s,@

T = o?1+J—}<+JA(3f—5’j —(3)
e with T ’\) |

E

—x N ™~ :h—a_;
Q\=X+ b=
—_— | [\ i
Og= A+ -} ,

Scanned by CamScanner



l W= VB = /34 -
/ i) (5-71) /J /@m,m_%/
+

By Xy | 59

1(0) T URFREA (S k) — O
V= —nf- QM(BJ‘—O?HK) —(3
o with
7:71’5%/\?,’ 741k
= (FFa) 4R ,f—oyﬁ,,(
_a"\ o AN\ —
= %z: 34K
Dol = — DD N on on .
T&XTI H{(\ K ””ﬁJ“o?K = —1od—9)—3K
|

_ 4T R
q = _
ARy ) 3e0rd-240)

- %‘/H%J +4 K
S B sy M rorvwrrelil [T = 13

SD = @”D(“—a) "N A N
/ T ;/.:/W~4}_BK)/

Scanned by CamScanner



g 1)

The (Jip("n Oiver, peee
Lhle Sl o ZEL oy Fe Bk (-a] k) —0)
'(.’
. / \ \ \ n n \
.7, — vl /I_ / > A= 3 ',/,f)'}./'//c"/—//// [)f\-/ f\) —» @)
= =
Compe 'l EE IR YY “} - Ah
W Aed-k E e Ul
= ab40 H“ Jo- AR
P N 1\ \
(, (1; i,(’ } f,; K = Ky »')-_AJF-{‘?)FQ

) I

4

Tm: X"}:r) - J/ £ — "

I / )-J(7 /)w/ )
= =Hf- /)f?!’

-t
’lu?”)‘ \//q}[(/ ’(7) m/: \//TE_’

Aoof N A n
/ I),Xl)g) [0 (/‘l; / | /(\"”1”‘(}"8[’\) '/l’f/{f(\/n/'gf(>
5D =

LT
J 4 i

/16

i =R s
/r” [T ==

sD = JI¢ —

e e o e
e ————

Tre {]rvom /'ﬂf"‘ 2

= u’/a?—fk /4/)?/%3/-///?) _—f‘

The (e a~e 1) +o ech othe~
’JG((“/{-)(’ ) -f[)
50 ' A

st UG aE Y= A
G- (H0-4K) = 3fa3)sh T abbsipef)

Tp-Ar= 3A+3]—5K —f —9)on P
= YP4J -k

- B= BT = - - 5 1

Scanned by CamScanner



Bx®A) = —9fp1q)-yk

I @) = i mplenp= /sir0cti= /RT3

Thea ¢4 (3 Kawes

7
8.D = /.@7)_ 93
= 7
“Fhe 81\@\ Dives ave h o |
= £42) 13k +A(f- 3]0y — O
= Hf+5J+6K+H(o?1+3J+t\)—+.
Compa~e  with
-7 +/\bl
i & :ﬁ.q,ﬁﬂb
j :rQJJrBK 5= —311-&?\
0y = 4 5 Mk 73‘4— U r3J+K
&~(1| = LM\ 7L5,j\ 'f‘ék——/}\ bq()]r\—BQ
= 3/ #3J+3K
— N\ » r\
biitts = / ! &’Q p )
'y N "
L3 3)~ (=) K(3%)

= g} F37 HJH
[TxBy ] = F COYGRHIR = s - V/ED

5D b1 Xh, 0, )
/(l ) (-7 /__ /(94“-#35#9/2‘).(31’43;%3:%)/

Ry \/
[4Xy | I
SD= /'W/- 9
ETI
e sl iy L g

Scanned by CamScanner



"i[*\) e l\/ﬂ\q@mes a~ ¢

Y- (/ ,f—f‘({"a?)\}‘]'('v’—'c?‘l‘)}(
Y= J-t ) 43R +K

= J-043R+ (L] k) =@

(S+u I +(as-1)] —(&smk

S/+x7La?SJ~J —qsk—K

= A=K +5(L1g)-ak) =@

COmpawc& W) Hh =T 47 ?——%?'Hlé)?
Q) = “4J+3)(\ b,—- —j%/bc;)

= A\ AN
= =]k = A 490-ak
ag{’a) - /(:j\_}fé%g/+0?j\_3ﬁ = O)(f\__}(_‘?
by - //}f /‘}\ K

. o s )

L =" /(—ML/)“J("W)% /Q(—c?—/)
_;u —4 -3k
%
XBR) \/@ ‘}'(Lfﬂf(fjr? 1/1‘/—/-/{-}- _ /—

Sp_ /(w %) (3,4,) |

“;b—,"
—
Y -
';{‘1

~N
__.L/K

[oxy |
: ( TR ) fof 4t
Ve
= /O—HH;?/ g
W

e ——
—_—

Scanned by CamScanner



@ Let @ be the Position vectox of the porad ( /,0, -4 )
‘_ T = T40faK | heve ™= f /K
~ Reguintd veetos equation of the plee s
Ve cto~ foew — =, —

it Y= 284y tszR i ¢9 (/)
byt k) (P -R)< 3
| | 1-7‘-(7—-7_: 3
which ve TC’Q&)‘YE({ G?uah'mn o p@mﬂ

et 7' be the pogition va |
@ [ f(:\-/LlL A r\d—OT o the Jorat (//L//{)
‘o’G?LU‘“{eC} Veo~ GZMQIL!'O’\’) of A

e oY '
vectoy oy —, = = e s
YN =75

‘—{('(‘ 1\_ a n
RGNS =ty g
SO gy,
U= o 0,
@stesion foem ¥
oW ” ie}‘ ¥ & the pogitrgy vector of pt Plxyy,z )
i “fq: 3(/“”\7%//\-%2}'(\ I eq () o
@EHh=R Y gy -
L= +2 = .
'S ~equi~veq e?uqb‘on oF /)éme

h‘\_*_"

whi ch

i

Scanned by CamScanner



W b2 e e position veetor of e pot (52,-4)
hea g2 sfeaf—yk, heve T= 243K

= 'Y(’q ufﬂ’d vectos e?ud'r'mﬂ oF /’@?“ﬂe S

Ved'w fm\m
— YW =T
Y (U43)R) = (k) f944.3) —K)

V(A 43)-R) = lo+e4 1
T @3] -R) = o — 0,
C .
Q‘S{ES\a—n fmm : Lot % bo the /)og;'?’-fown V(’C(Lo“( of 7916,00/;7711_/0( 399/2)
it = XErgf 2k aatren 1)

G+ f+2R) (30 4358 ) = 90

dXF3)=2 =
whieh r‘S‘/Ygggg‘xqgj_ c?uaﬁ‘mn Qﬁﬁéﬂﬂ

T Quation of e plove ‘ :
Passi~y th~ou h'(%e ,DC'!“ﬂf‘fo Li=1),
(6',");‘5) 4\00}{"1/—5?, 3) is givew by / 7 ( )

] xPD(J V”’%/) Z—2,

L= BV, 27 =0
3 G, 25z

L STy
6=l e =540 (=0
el e 3

X-) o y-) =4
5 3 =i J& O
T —3 L

'[C\K‘V‘O =] Commoa T~ RA3

N I ol B Ve B Y
S 2 —L( = 0
4) 8 =4
Ry aond Ry a~e Jdentyes!
0=

Scanned by CamScanner



©

A3 Ll - 20
3=5 =1 -—(
=3 3 =5

@ 4 Cwosces the y ppm It means -0
8-S LWl _e-¢

—3 3 ~5
X=5 _ - =€
__02 3 -

,5 - = VAL

5x-35- - |5-5= I8
5x= 13 =3
= L2 (’/sﬁ

Hexce Yﬂquw(’o) Pi‘[ o)

Ua) I+ (H¥0s8¢s the Hzp&hqe H— ™S M= O i @7 @

— 3 —5

-l _ 5 | 2«¢ _ =
3 2 | =5 ~ 2
Yy-d= 15 dz—13 = =35
Y = 17 dz= —/3

- 17 o

= —gz— Z = _/3

He~nCe *ffyt '“(C’J Pf( D . /%)

(€) '1; 05505 He = 'Defme
-5 _ 0—|

It Mg =0 fmé’y (/)

a4 T3 = =<
X = - _
N =
3X—I5= .l 32— = &5
N = ot == 3
ik Sepurad Bt 7
e Hehli~ed p /7 |
i TR (T’OJ %"DL)

D |

}sznm of m\@ Jd”r{oujh pts (5,1, {) and (3,4,1) 15 (?”’CN’ by

Scanned by CamScanner



[® Let +the “ﬂ"]urxef l‘?!faJriow of 1 /’pﬂwﬂ '//h(”“&‘h the infexceclionof /’/fmf"»'
34492 -14=0 aw] YHy+7-2=0 15

@3("3'}'6?7’1—/) + I&/-)( /(1/'%‘7 'a?)'::() ---)-(D
Simce it passes fh“(oug‘h the /)’)M')‘ (n?,e?,l)
(3(0)-aragy 1) + K(HaH =)= 0
(¢-2=) + ()= 0

!T,

A+3K=0
3K = —d
K= -:%_

Puttiag K im eg ()
(3% -y +Qtzl~‘~l) F_%_(y-;- 42-4 )= 0

31-3(7%2 ~ld 3 X t/-—ci):z-f—lL/
3 _

=0

—_——— T —

Equation of P&mﬁ Passiny ﬁh{ouﬂh the Inlexeection of Y+Y+z=) zm:/

A+Y+2 - +/\(a'?x+3(tj+l-)z-5) =0 — O
XHYT2o X130y bpz 5y _
CHRMX +(143)) Hi+4N)2 =) =51 = o

But it ig Pfxpmdrt‘u/an’ 10 /Jémg y—; +2=0

1(14‘&)/\)—!(11-3))4_,(/_}_1_}/\) A
//+0?)“/_3)+)+H)\:O =
(Aé‘S)HL/:— O
3= —}
Sy

Patting A i ¢ @

1200 % oy
B+432 -3 g3/

_ 1245 = O
U ez g
wht C‘h \6 a"e‘zll'\“d-f‘?o‘wfa'ﬁﬂ“l of /ngé

Scanned by CéhiScahner |



I e g of [
0 g N AL kA (b 9aR)
el . "\f*?;-J}‘/; A
W1l Raby J gl -apdpp] pank
(-0 }(JH))\I( NS :;M ! /\)/ Ik
(“]'(ﬂl"\(f (o~ (Hl(\c‘(l} fl[ ; /7“4

Xy 6‘ IH = 1A | 2 Qe dA
3'."; ld L_. ) ‘:j,,."{ = )\
X

R
.' - - l(” ] > L _
N e ey . SR A o
| ‘\‘ ol (1)
amvy - l/ —)U r . 5 —_ /P)
he rn'ﬁ“‘}'\“ s of (h\tj Poral

oM [y Q
ot fite, ow The 7(mp D he “[ e UDdaie /)Q/BA _HJ‘M/'“H"J’\)

(f\/))\(l }( “’M)(

Q) 3) PNy -

/\ '/"(')’:: S

A= 0

Poat of imlexeeclion of ¢

P(3+0, -1 0, 840) jo : /
P31 9)

Nor ‘n(ytl'w distrne - |
NE e the (.} 5o
-,4) S et

)t /».w,\) (0)e.

3 5\00‘6("'\“(\?( of
e aw/ ﬁ/{me i

SR /’om/S// -3, /)fhv/

F?tl , L\( ) f‘ 4 S i-w/
? l' ((J Cl (J Y d

\/_\/ M-( l}?/ //9

= VI

R S — - /\)

ROVl i
(e RE : ‘.I:
L { gil\-:'

Scanned by CamScanner



i let o e the amyﬁﬁ betire-a he ﬂf’nﬂ a'r/,./ 11e 'fi/)“»r'rr,'a/ o 1h? /4?-06
Cm‘f("b"ﬁ"“g the give< (-7ua’f ‘o i~atn vertod forem
¥ - Chtaly i lobsspick)
trad ¥. ([of +9)-11k)= 3
TR it o TNT aad T4
Beafwaiiek W= tofrg)-yt
sinp - [ b7
/ 3)17| /
" = } @R 430+eK) (Job +2) = )
11943¢ /100 #4449

Sig - / Q0+ ~c¢
VHI \[3RE /

Simp — /—L:;_QS -8
Fxig ;/j/#

0= sfﬁ'/__t
(a S

mmmmm\ plves with 3524, ad T4
M= UAIFR A=
Yy = 445 13k dy=9
Regui“e"'l eyqaﬁoj of ple ic
Y (M +/\:"zz) :dﬂ‘)tc;;

— AA a

—’;g-(a?,( RIS 13R )< 7444

T (sl 5 PO (3308 < 744 h

At -:p._; XYl + =2k Y

(22 +474+2R)- (laand 1 ¢, DIt (sta)h)
@j‘?)')jé +( [5)) i + (BKM)Z = ?7{‘/’"/\ o

mi’f@f’ﬁ) [ase, J"‘““)Wlﬁf‘mﬂo
e

(g+a)@) + (HS N1 G3pa))i3y T
S A F IS L T A
D=3 TS

_____ IPARUPSCIE )

Scanned by CamScanner



9)r = F-14
/\ = h‘g"
P”%h“j Ao €9 @

¥ [‘“ # +3k— i(v?x’ﬁ?ﬁ’/r)] 749/ )
[ RE 9T TR oy —35/ =3 K/
ﬁ
' [ U-2¢)1ck7 \
— J -
V(0 ek) = o

_—

Scanned by CamScanner



